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QUESTION 1

In what application mode can you freeze column headers?
Please choose the correct answer.

Response:

A. Data

B. Design, With Data

C. Reading

D. Design, Structure Only

Correct Answer: C

QUESTION 2

You want to force the calculation context for a variable in a large report with many dimensions. Which operator allows
you to add a dimension to the default context?

A.In

B. ForAll
C. All

D. ForEach

Correct Answer: D

QUESTION 3

Which two search criteria are valid when using Delegated List of Values?
There are 2 correct answers to this question.

Response:

A a*

B. *a

C.a%

D. %a

Correct Answer: AB
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QUESTION 4

Which DaysBetween() function syntax should you use to calculate the number of years since your birth,
assuming the date object is Birth_date?

Please choose the correct answer.

Response:

A. =DaysBetween([Birth_date] ; CurrentDate ) / 365.25

B. =DaysBetween([Birth_date] , CurrentDate() ) / 365.25

C. =DaysBetween([Birth_date] ; CurrentDate() ) / 365.25

D. =DaysBetween(CurrentDate() ; [Birth_date] ) / 365.25

Correct Answer: C

QUESTION 5

Which two data sources can you directly access from a Web Intelligence document (WID) using the Web
Intelligence Rich Client?

There are 2 correct answers to this question.

Response:

A. Universe

B. Text File

C. Web Service

D. OLAP Cube

Correct Answer: AB
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